





666!

1

4

$

C=

%



B> <0/B "2,<< ,«<> B >B " ,0 * 01
1
&
"y $
b
Cls
& l( )* +’ _ -/n
0 1 - 23 § 4% $
3
D E $ (
5 $ 5 &t % 5. 23 $
+ 3
" 5§ 0 71 8 #
$ 1 23 22 §
=
$ 1 -
# 9 e
* %
1 ? g8 &'
23 0A
( F
<l 2,>20B2 >20
§ - /1 # 1 # :B>B
: B
# -t 0 # 1
+
&« = #, 0 B2 > ,< 0 >20
8 5 # C D<AA & E 1 b
$ 6
B % B $
11 8 F £ 8 1
g 1 GHTJ6 # H)
.C$ 6!
>20 7§ A



144

H )



B

" 2,<%

<>

B>

<

<0






# - $ 4 $ / G
& HT - $ H // $ $ /7 G H
| & H " $ "$SHI S -
- $ $ 7/
$ & ) §$ -
& / 1 - / /7 G | K -
- $$ "3 / G
0 $ " L "8 &
) § " /7 3
) $ & G $ * / !
- " & - /- -
$ / $ I # & /
- 7
$ 7/ /K/ 5 /G 3 3
& "L /K/ $ 7 &
0 $1HB - - - $ I
3 6 78 0™ "% -
$ - $"$ $ 3
$ &4 $ 7/ " / 3
$ - " $
: $ 5 - K/
) %0 2B * " $ # N N
) L 0>20 , 1 9 # - 1 §23 4
22 § # # N =t
> B oB P& "Q wo< c? 4
# 4
1 Oo o $ % RrROB ? 4 ™ 9 77
# SO/ /&S $ 7/ ) $70/ N4
# :/ B ,i O0>B* 0 1 1 1 8 1
/3 & ? §s % 1! # " 2 I NN 4> -



" / - : $ $ $
/3 7/ 86 $ 7/ & -
T $7/ 8 U4
- $ $ 7/ $ $ 8 / 7
- "$ A A $ S &
7 / /7 | $ / /
3 7/ L N= * % G
/ G - : -
¢ = 7 $ C!s$
/ /K $ /77 3 $ 7 "&
$ /7 7/ / T & 7 & $  swu
V4V4 -/ I $
: $ / $ $ -
i>$ 1§ 3 N -
/ $ - /
$ /7 $ $ /3
3 4 - 7 & -
Nj < & $
/ - $ $ 7 $
$ /- / & - /
$ & $ $ - /6
3 - & &/ - $
- $$ 4
2 / K "7
L $ $ / 3
- &G .o / $
$ 6 /7 7
X& 4 /7 / Y 3
/ & $ -
/ $ $ $ $ $ G/
- / $ ¢ $ $ $ |
8 $ #>x T°F "$ U 8 L V&
Z 5SS 4 £ &S S N[W
9 $ I $ $7/ 7 VAN | RO )< "B *
" t 1 1 "8 6 >B=h:@;B # # 2
2 # 3 =4
# O>* 0 "' IM 1 £ 7 # + 4
4
NooE #00T,%$ - $ 7/ - ) $ & NI« \<\
6$ (v # $ %o , < *>20 J¢, " #0072 0" - 1
9 M K 1 23 k22 § # $/
$ - MBS/ $ - U N@ N N4
&G $ 7 \J« G - -

& & $ § 8



#0 , S

$ 7/
&
$
/7 "$ /
c$ 4
Y 7
& -

$
IB " /K/
3

$

$ $6 /7 "
&
/
/7 $ -
$
/
/
&
$
% F<) o, #=0,
B> # $!* 0«
* /

B2%>
iU N tO
&6 < TF
- 8
0 & ,< 0

11 8 NN
1 * >
# 2

= C

/3 & 2

$ o
- $ $ o $$
/ & ) L
/ ! Vo4
$ 3 7/
A $ & & \J<
$ 7 \JX« G§ / /
"rdh<  $ $ Y 4
i/ - ) $
N8 4
$ . $ -
3$ $ - 9
/
/7 -
$ 7/ /3
T/ %& U - K $ 6/
$7/7 § & 4B
$ & -
4 "L
! $ /
/ $ 5 & /
$ "L -
3 9 7 /7 &
- - /6 - /] "
A ) L
- A / $7 I
& / =4
$ & $ 7/
/7 & & $ 7/ $
3 93 $
/7 U B~ o>\ ) L
>y ,.B,? 4C 1§ #
17 - 7/ ? =
/ N /4 NNN 48898 ¢
% & /& L7 - & U 38
=1
$/7/ U | C b
= |
9 44¢ 11/]'™5 9 1;=Bh:;>;
4
1 M 66 :B:=h:;:< /3 &

{



J O« L<> o<

$ 3 / & 8y " .
& - g™ VAV 3 [
Y A 4 /K 7 - 3
G / /
$ S 4 - 37/ &
4 - /7 G 7% 9
$ G & 4 $8 - 9
/ $ /7 G / K
$ - 473 J "/ /7 . 1/
$ 7/ $ 7/ "L $ 3 & / &
7/ . $ $ I
/7 $ 9 / 7 $ / G & $$
/7 G $ 5 $ 3 / /7 G -
4 $ / G - $ $ & $ /-
) § 7 & /3 /7 G &
" 4 \J«< G " $
$ "8 /7 G 57+ , / $ 7/
"L $ 3 & 7 91
o " + 09=
/7 G 7 /4 $ 3 N ® !
/ & $ 7/ $ ) L
$/ $ . -/ $/77 " $ T
3 - U- / / $ - - T
"/ $% 3 U/
$ 0o |
=9 {1 $! / 8 ?
- - 3 N T"+ & -
/7 G oUW %3 - " $ G
7 - & /7 G -
/ T 6 U - $ 6 7/
8 *0 > TB 3 & /7 G & 5/ $ +$ $
/ $ UK 5 8 419=4" / G &
/ & $ $ +$ $
- $ - $ 78 4 1< & $/
/ G - $ 36/ $ /- $ & -
& - $ 7" 7& $ 3 & |
9 # 7/ "I#00T,$ - $ 7/ -
Il
"3 = J - R $ 7/ "L & / G
8 ¢ 22 § 19 8l
N+ LN RL 1 $ - 9
s T # $ # : 4
c>0 <c< T & & LT " $ 3

L 6 U 8 ? - £=N N 48 9 |



#0 , S

-5 4t 5/ $// $ $
/7 G - 3 7 " "
$ $ [ $ - $
/ - $ + $ 9
7K/ /7 G /
3- |
0 - G $ 8 -
/7 G G " L3 $ /7 G ! 3l
- $/77 § D -/ $ 7/
G " - 7 "
T/ G U - /7 7 & 4
# & / $ / - / 7/
$ 7/ / $77 $§ G/ 5
- / - $ "
3 / /6 /7% /7 - $
$ 8 $ 7 / G N=7 Z/
$ - _ & $
$/7/7 & i / /
$/ ./ - " /7 G 7
/ $ 7/ 3 7 G
/7 | $ /7 § - - K
$ 9 - - $ -
3 - $/ 4
- $ $ 7/ $ 7
$ & - cC $ 7/ " &
$ $§ 9 / $ /3 $ 5 4
/77 $ /7 G H $ 7
$ $ - $ /- &-
G - $ 3%/ 4
$ 7/ $/7/7 /7 G 7 $% $
R 2 , T" 3 / G 5 + $ $ 8 -
- 8 i 9 4
oc2B C #,0 70 / $ /& $
F $F % & P 8 i1
$ 3 { 1= =9
D . Bo > T $ & $7& 5 6 / 2
N 9u g P C G i1 N 4 N 1=
1) $1 =0 O # coB? 4 8 /
6 C 6 1 QHI1 %! .2 L " # NNO ™ $!
2"" oE C I6R i R 1 18 6 /3 & ? i
2 . # ’ ‘o0 Ta : 3l
F3$ 7 ( > B & & &16 $ " § : UM



L > o<

o<

SN &)
™ <@ “m
- “> o -
o»i N < N\ = 2
“> / -y
“«“>
o™ I+ & “
- Iy &> @ (&)
N\ |
$/_ I
o 1
o\ /7& N <,
(&>) “>
N : i
& - —
“>
1 ™ B
» 4/$.
o, [} | 1 © H
= =
N\ O » ©
oo $+
[92] = N
w
D ] - N

| & N
@ N = o ! > 1 .
17z - &_
N 3 : '
e ' o
P w NN o0
w |
N | e /$ )
- o3
N $3m _ “
s
3&_ - . N . ™ ”
> w v N~
N “ N i | ! *$
» P ~ /Mw$.4 - N
= ~ 1
s 3 5 =
— o2 ©» /3& o3 ~
N 13 N\ & N\ o
_G5$ _$ =@ 0/”
U/& _//& _/..
- " N -
N - T YN
- P - w3
S S S N
N N /$%//+$ N e
N\ » la B o ©“

AN

$ 77
$ 77/



#0 , S

4 " =4 /
- - / G /
$/77 s " $ / G $ 4 $
( F "o 3 - B $ $ /7 G
& / / -
$ / $ $ 7 & /7 G &
: - / IB "L $
$ / $ / / G -
"9 J "/ L] " /
/7 7 $ / / I8 $
/ $ 7/ / G -
$$ 35y /7 /7 & $ &
" / / "z -
L $ $ 7 t# " $ >
w /7 - 3 /7 6 / § / 6 $ /-5
& & $ $ 3 $ L $77/ T 3 &
$ U "/ /7 | / - "
$ "L
I $ 7 / / G & $
- I & & - $ $
/ BV A $
/7 G & 4* $ 8 L
3 / K/ - $ " 0%
/ G / $ U< $ / $ & -
3 $ > / /
"L 4 $ $  IKS /7 G 7
$ /3
& - /3 " $ /7 G " L & 4
- B Y 4 /
I / $ /7 G & 1B &
\\\ G 6/ $ /
$ /- % $ 7% /3 $ /- A
$ - $ A- / - 4 /7 G
& "L & $ $
& $ 3 1% $
$ $ 7 $ 7/
/7 & . & & - $8
& 5°$ / /7 - 4 $"
= & o< 6" 1 /" 5 -
4 BEShIri< % # # " & $ 4=
8 "= J - - T $ 7/ LU 8 b o< T4
& U B & o« T $/7/ L& / 5 /7 &

/. " ) $ N U C 88 4 99 NI






- $ / 7/
& / - 4T "& D >
$ 3/ / 7/ 7
$ -
$ "
/
4 18= 6 .
3$ G o/ /
0/ G 188 189°
73 /K/ D
19 $ )3 & 2% *
# 7 / D ;
/7 7/ >
. & /7 -
/& - I
/ 7/ 4
J $ 6/
/ $
/7 &
& / - 1 BG "
$S$ / 7/ 4
/ 7/ /
3 /
D 7T/ % ) % #
: $4
#=00 T* 3 &
3 J$ $ #( N1

18N D

N

2"

4

u

>20

78

C<c2



T .
#35% 3 1 4N 1T & / D > >« TB a

/ . X&U 8 9 7 iC T - 1 L N 814
= J $ # 2 * K "

T<AAbz==; $ : 3 N8l
8 & Cr- o F # 0 J<< < F "& & «<BO0O? 4 M [
,P3 & 7/ . e >00<? 4§ 3 ) M
b b § 8 4 $ NB8'C 0>B? 3 ) b
Q ) 1 F 3 6 ( 4



"< #0< 20 ** BB " #0 <0, # B #0 20># ~

/ /3 $ /77 §$ !
19=% /7/ & $ - & T /7 &
/7 & I / $ U
- /9 - 9 E _
/ Y / 7 - $
/3 & $/7/7 % : & / K T #
& % / 0" $ $ $ A & A
$ 7 $ & - $ / To- $
$ " $ /
- $ & / -
$ - /7 /3 $ $ /77
& / - G 3 " < 4
$ 7/ / I e
/ / /7 MdJ $ $ -
/ &/ 7/ $6 / 7/ 4 VA
/6 - " & & / -
" & 4* 3 / & / 7/
"G D J "o- /7 7/
/ 73 $ $ - - <
/ i B / 18N - 9 /
/ 7/ - - / 7/ TD $
° 3 J (? 7/ Ji 9 E 9 $
# %2 ,< T $ &" 7/ c ! ef %6
) 8 $ I &7 49D fu 26 % , ) (0«0
0P & B0? i C )% R T 6 8 /9 UR 118
e N9 41 1 § 418 $ /7 / 13
7 & /| - " 43  :DBAK:=VA O /
+ "L 0/ 8l > & / / $  >tw oo
3 1 T N 18 E =/ P
*f & Jg02 =4
$ 7/ / < J // 26 <o
9 E SH T ,P3 & / .
= " B>0 C HJ C HJ N
% # & N !
N Oso00< T / $ J (U > >00<? 4§ 3 )
M m oy = # % 2 ,< T°¢ / $
/ 7/ U 8 ¢ L9 1N N
T /& ( & " $ 0/ 718= 1 @5 & #
« JU K # N 8 4 N 9 41 1
B/ oo T< & " $ < U > 0,F*?7 4§ 9 )
U T 1 M 18 P M 1" (& 6 ( N 4===9 '#
12> 1" §$ / /7 T# T $ /7 7/
1 =14U / "C 1<BA¥

1=<A $S# ) 1SJ NON  41= 9N{



U $ 16/ "/ - D
C # 13 o $ 19 $
D / & " "8 / 9
5
/ < 4
D & - $ - 4
D Vo4 & K / / -
$ $ / 4 J 5
- / 7/ 7/ $ 3 $ 8 4
" / /7 7/ 7/ 73 - &
/ - n $ 4<
"7 3% & / /K/
$ n / $
/ G& - L D 18N * "
- T g 73 3 U7
J Y " /7 " ) / & & -
$ 3 7/ 37 J 4 " "o
3 "$ " 7 T U VAVAN|
5 / 1 $ $ /7 7/ & " -
J& Y
> 7K/ $ /
/ 7/ 25 * g ( $ )38
T! L 1 P L -
- 68 6 6 § LW 8 U5 < +0>
J D 8N " =y E 1
$ =1 w= 3 $ 7 * &F "% &# o0o0
61 / >/ N8 N81 7 / 7/ $
E 1 ? / <, 0 V3 & b
Z SS 1§ 4 &S S M J 1 R 1 J V3 & 5
Z 5SS6664 /! & 6 & $14 0w
T 3 P fL 5 - /L9
- § - - /L - 1 U5 #«< D2
C J D 18N " 4 == Kk 98 W
TC - M - - L /L
-8 1 p L 5 /L 8 3 -
1LC /U5 < o> J
D 8N " 4 8 W&, $ == W
J 1 & N " 4== /3 18N Vo4
o™ 3 ) 1 N ) 2 $ &
> & N 48N9
113 L LW 31 /U35
$$h,B <% # / , &0
[N J 19 «, = I $ 19 T
8 0 L U503 0 <«<">170 3
$$ ] - 1 J J 19 k ,



"< #0< 20 ** BB " #0 <0, # B #0 20># ~

7 $ - T - U $
/ _ /& - 7 & 5
T, - 7 & $ - L Vi
3 " =2 $ / 1 3 &
> 3 &7- & T "L $ $

- G & s LK/ /"
/7 & < $ / 7/ 3 - 7/
-7 3 b T* 7 & & V> & (
)3 &/ # oo
> T # $ /77 73 & V4V4
$ /7 7/ $ 6/ 7/ id /G
5" / - 5
/ _ $ 7 4{t2 # |
$ 3 $$ t < - 7
3 "$ $ 70" \J 6§ 7 "
/ $ - /7 G / - $/77 $ 71 /
4 $ / 7/ 7/ 7/ 7
$ - & / - K / $ 3
&/ :o $ $
/ & $ $ < / -
7 & 7 $ / $
$ Ny / $6 &- $
= TC 8 b - M 8 L § us >
% 0000 ?7* % ((C 6 # 2% * & ( $
) 3 & 19 G & ? / iV, 3 8= W
8 T1 1 L 1 Lw
8 5 1L US# 0< #
2% * & ( $ ) 3 & 19 G & ? / i<
== 4
9 TW N - LN [ [ IlLC 1
M Us% / B > > >0B<>
# 2% * & ( $ )3 & 19 19= "4 = K
3 9= WJ $ $ 38 19 TW 1 8 L
3 3 us =2, J J 19

19 & = i4

¢ $6/ 7/ / / -

/3 7 / /K/ 3 i

$ & 3 : : $ /7 7/

/& - K /7 $ /7 7/ (> 7/

7" 6&% 0, ">, ) C 0/ (
- N9=" * Bjo o & , 39! NNN

/ *<o0 T« ( / &3 & /7 /7 F "% &8Fo, #
) 7 4 H H T Q H J N

&3 & F 4 4
N# /7 & 7/ $ $ 3 & / 7 / 7/ 7

$ /7 /7 7/ & - § § -y



- & $ I & 4
$ 7 $ / 7/ " S
/7 7/ / 73 $ /3 4
B $ 3 /7 G
/7 7/ 7/ U< I/ :$ "3 i / $ /
& / $ 7 & / &
& /7 $ 7/ " X
/7 7/ I/ & 7 _ / $ - 5 3
/ $ $ 03 & :$
/ : $ 4 $
$ 6/ / - $ & - "
$ - $ 7 3 < /7 & |
1 #"$ # 3 % $ $
# $ /7 G /7 7/ / $ & "
7Y K & 4
/ 7/ $ 7 < $
- $ $7 / & & / - /7 /7 |
6 / # ( Y 4 & /& $"
7 3%7 18= 70 / & /7 - " 1
1 - 8 7/ /77
/ id) & D / / 7/ $ $/7/
IB $ & 1 _ /
$ - (V4 $ -
$ 7 4" & - /
7% - - G& "% 58 7/ $
$ " 5 $ /7 7/ 19 7) & Y
/ & =" "G - " 1
8 - D / / /7 $ $/7/7 %
$ - $ / $ / / # 2 * K i
[ ] toN
# 1/ O & k$ (B 03>17 $ o/ [
50 / 6. 7/ # (18 "11 K 1
$ < o> 0/ 6. / # ( 189
118 & $ = = w" 7/ & / -
"3 s 7 $ -
$ - . /S - /7 |
%02 < § M 1 ) & 0D / /
& =" 19 19 K 3 1 ¥ < o> )
D / / & >" 19 " i1 K $ =9 W



"< #0< 20 ** BB " #0 <0, # B #0 20>#

$ - | " 7/ / 3 - $
/ 7/ . & 7 & 1 B
$ $ 8 - " 3 $$ -
3 "$ /3 - |
& "S /7 7/ /
$ Y $ $ &
7/ - 3 3 ¢+J & / $ $
$ 7" \J G$ /
/3 7 2 # $ _ /7 (B
/K/ & / 7 # /
$ 7/ ) ; - /7 7/
G& 3 $ 2 # |
9 $7 6/ - /K /7 /7
$ 77/ / & / G 70/ =
/ -
/e t> 3 6. /7 # (/7 - 8
/ / 7/ K $ / 5 $
& G / 18N 19
/ 7 & /JK/Z 5
< $ - - - & $ ]
/ 4 $ / / ' K
/ $ / $ /774" /]
; / # ( /7 /7 710/
/3 /3 3 | # $ G ) $5 /
$ 3 7% c / 8
Vo4 & / K $ $ " i &
/ 7/ - -3
T 1 8 L1 VoS 8 / L
- 1 LE 8 LW 8
91 8 us ¢
J /77 68&% 4
1 & 78 - / \J G$ 5 , C
14 t 8 1 4 NG Xl # /7
NN 4 : D $- J & -
Cc ,c =0 T°" . X& S $ HU
*>0> >3 T* 6 & T\
< G$ U #7 4 morre8 9 £L9 8
= " F 7/ E M 6 6 :D@BY:=VD O /
N $ > C 11 N & S
$ N 94
8 T - - L /L
1 E § LN 1 VoS 8 8 /L HG §
1 )- 1 L L1! 9 N5
C us = < o/ 6. 7/

# ( 19 " | W<, N



9 # 2 * K m 11 49 =
T E 8 6 - L M § L M 6
- L /L -
1 8 U5 < +0> ! 0o/ 2% 19
"y <, $ ==1 W



"< #0< 20 ** BB " #0 <0, # B #0 20>#

dJ V4V4 $ $ )
- 3 C / Cc $
$ /7 $ % $4% i
T / $U 7/ $ - Cc
$ 3 T& $ 3 & /7
$ $ %V Z /7
&3 e Ul $ - $3 - /
: /G /7 /7 ! - 3
$79% - T U ' $ 9
K $ 73
/7 7/ 3 me1l  Up-
T Wi/ 7/ / $ $
$ / G "$ $ $
(o} 3 $/77 3
I - $ 7/ $ &
/7 G /7 7/ / - $ $ $
7 3 - /7 7/
$ $" - / "7/
& / 3 7 %% 7
36/ - &
/7 G /7 JK/ /
$ - &
$ $ 8 $ 0 /
/ / $ - $
$ 3 & / & /
"3 " 7% e $ o
& / - /7 /7 |
TW 1 8 6 8 §
1 1 1 8 1
1 UsJ %3 $ $ 4
4
B 08 3 T 81 § 5-
J %3 $ $ i< $i<$ 49 ==1" 1 |
3 8 / 7/ - (Bv>>T2
/7 $ 3 /7 ! $- ( $
8 ) 1 1 19 1 i8N
#<0 =7 4 5/ - J
$ / 7/ 3 /7 $ ">ForR " N
[ # 3 + +



D $ 77/ $ 4 /7 7/ $ 3
I # s ' s
$ $ /77 + / & T9 Ul $ 9

1/ 7/ 3 & v- 13 VAR R TE

D $ 6/ 1% :- 7/ $ - 33
& - 7 -

/K7 L< 3
$ " &3

1) $% ow 0 TB 3 - 7 0 3- 3 5
"% - 3 7/ & \J«< 6§ U

D20 ,< ? H " 8 / 5 - 1 23422 §

C $! $I NN8t

= J 7/ $ $ / 7/ 3l s 7/ / 3%

$ $ /7 $ 7 7 !

8 +0 1 # "% " 4 & T 1 /7 U

2w



"< #0< 20 "- BB " #0 <0, #B #0 20>#
=) L D $ 3% ( J Vi
$ $ 3 ( {3 3
G K Vi /7 - 3 G
# 3 c$ / - "I/ Y
7 7/ 3 /. $ /7 7/
1 + 7/ = | & : $
/ - /7 7/ $ 3 79 3
3$ 4 $6 $ 7%
$ $ 7/ /7 & 0O 3-
$ 7/ 3 7/ 0 (3 v /. 1&
$ 7 $ g
$ / - / /K/ G
1y $ \J« G * %
$ 7 > % / G $
$ + / G$ 5
% $ = J & /7 /
I/ /7 7/ § /7 7/
7 / $7/77 % / 3
& - / /K/ $
Ly
/7 G - $ / G
Y & (V4 $ 6 - " & ">
: V4V 4 $ 1# %l tHL. %!
/7 / Y & o3 7 9 I
9 TM 3 P L1 1 L
- 1 L ! L K 8
Vi 1 §1 - 1 L3 Us J
I $8& NIN" 48 % ">FOR P
3 1 1 > % $16 NN 4 9
">ForR T, #3%$. / &V B O<B% 0?7 4
N ) $ >3%$1 NN 4 18
NGO 0% 0* T $ 0O 3%5 3 & . ;
J # U %0>> . D $- J * .7 §h M8
N 6N ! ) /S% & & 419 814
N | /7 o< ,>, - 4 - # $J =984
1 TK N )6 M 31 6 884
1 $ § # $ t8 4 1 1
# ) - # Uss$ & E KJE
" S% % 11 4
13 $ 8 D / 3% $
D ) 3 ¢ / 7 $ $ o/
$ C«c2 <" 3 8 ( /7 J 4

N\

1



/ 7/ 3 7% -
$ I O owo*T § 3swy 1

5 [ W 8 8 I -
Us > B J o> $ <T" # <«

$ U el Ot =7 U

448 S% & * SO $ N1 4= =Nt



"< #0< 20 " BB " #0 <0, #B #0 20># ~
/ . $ - : - nn $
7% "6 w0 T# D
/ ) /&
$ $ 7K & 7/ 4
- $ $ $ / $ nn

/ $ 4T $ / 6& 7

18 >B*"< < E 1 / 4 <>
<KGA 0/ O/ 0o $/ NN® >Be*x'< < T, &" O/ 7189
1994 U / e > 0> <<? § M 1 1

4 1<>0:<00 $ NN 41 114
19 $ $ 3 / . 7 iC«c2 <"
3 8
$ & 2>3> 1B , J ( " i 7/ 3
U & % "wu> <? 4 E ¢ 1 23

$ 1 4 9 18 | 253>

b >u# M m & 2>J3> E K JE

S% % 4
W 4C«c2 <" 3 I/

-

/

ZP G



CC2 <

o<

/_ Ls3 1
I
NN - N\ o3 N @ h
™ o3 < 3 $/$
. N
N s
™ $&&& /G& AN T oo 1
$$ GO/ N &>
- /4 rry 1 1
> 'y
n ©“> “> / /\3
- $u$ " __ %$
o o= N .
- N © o = © -
| — » &$
No e N o o T
N o\ N It
\Ne e “ N O\ i
R
I
TN > g o207 0
" “> / ™ $$ / B
- AN v O < N -
©«> » : e ®
N N\ -
J Y NN NN= =
PPN ooz N\ e N //$




\J<

N

&

G$
$

/77
/ / 7% $
/7 9
4 ]
6S$// 4
& "$ 3 &
/ \J<
7 I /
/77 $ - $ 8§
& 7 4
"L %
$ & $ /
3 [
3 \J«  G$
& - &
" #. % -
6 $ id
/77 3 - $
J> $/7/7 $
7" / /4 BG
/6 3 $ "
$$ - Il \J«  G$
)
- $ 9
>20 70

$



$ $ - >/ (7
$ 3
4
< :
$ & &
\J«<  G$ / Y
$6 $ -
7 $ I+ &
\J G$
/ $% %
$ - /G &
7 . X& J
/7 3 4
- $ $
- IB $$ 8§ - = $ 3
& Y 3
$ $
IN1 -
I
$ 7/
/77 $ $
/ / $
Y /
- 3 &
4
& : &
# == $
- = 9 "$7 $ %
- 7
$ -
KL #H& &
& VAR
3 Il
. 1%
{ >$$ : /
- 6 ] -
& 1 % -
$$ / $

0 V=Ah:BAAS P C , 2



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

3 = 1 $ 7/ :
= I $36G 4 $ - =8= - &
LH# 3 $ - -
- 88 "3 $ - /
/ -
7% - I7 /
J> I7 " 36 / /
$ & $ {1 % $ &
$ & $3G $ 7
& $ - /6 # $ 2 $ &

$/7/7 4

> $7 % "& $ $ & &

7 G $ $ Y $ $

$ # & & $3
/ $/77 $ | 3 \J«  G$ - $

I7 & Il $ &
- K 73 $
& 7/ $ 4 $ /7 3 - $
$ "& $ $ 08 $ $ -

3 - / $ 7 G - $

$ $- 4

B /6 $ $ 7
$ $% % /7 6 $ /- - / $
# 3G 7/ $ 3 -
$ $ :IiB $ /

& - "$ 7% J>
$ "& $ /- - / - |B 6/
/ Il # #

/ /7 G $ &/ $ & -
$ $4 0" $ & 7

$ 8 $ $ 8 & 7/ 7 $ 7 /6
$ -/ - $ & : -

1 # %* %% §" # §+§

d & /7 3 /3
> A & - I $ 7/ " $
# & ) « & / /
1] E oT2 I $ yee 2= = §u 9
? TO G $ -\ &



/ - $ /7 $ / \J 6§ i< $
$ I 7 $ $ $ 6/
$ 7/ $/77 8 7/ 7
$ 8 # &
$ 3 - 83 & )& 3 $/
$ I - " / / VAR
$ 7 < 3 - - $ -
ol & " / /77 - $
$ & / - 7 < & -
/ | 7K/ $/ $ -K
- /7 & - B " 7 &/
& + 7 / $7/77 % / 9
$ = * /3 6/
& \ 6 - $ /77 9%
$ 7/ / & $// & " 3 #
NS /7 G T / $ U4 = 393
/ "3 K $ 7/ /7 $
1877 $ $
G VAR & $ &
$ $$ $ =1 1
$ & K & $ / 4
"+ $ & " & : &
- 7 r / - 7/ $ < 0
/ 70 )L 3
/ / & - / /
/ - < - "3 "L /7 1
= 1> $7 $ - - /
$ /7 $ Ysg -° / / $
$ -+ $ 78 $ 7/ /
8 0oBO o o% ow C § 4
/3 2 N 26 4N § 4 O
9 & %o - 56 / L $
# ) $s = | 8
- M $ 1==7" & 773 18 4
M N 1 \ M NN /7 7/
\ =
N# 2 2 -] 5 § 5 # #
) $ % 4T Ug NSN 4 Nt
<& p o+ $ == $ $ i
7 " & G& " $ 3 $ 3 3
! $ 8 : / "7 $ /7 $
$ & 4
C IR + 1



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

$ - 3 "$ $ /- : $ $ $
/ $ "8

3
"$/77 % ¢ $ $ §$8 7

> $ - / Y V4
$ 7 $ D L2 0B? 4§ 56
4K # # 2 ) $ N9 / .

- - "8 8 - 8
<> E 1 8 § o=Azh>=A
2 . # N1) % 28 = " N 4% -
! VIS 8 # # " #$ NN 26 4
NING ¢4 9 # J< 0 # (<=AkI;VA # ) // N9l
LIN =
1) %0 2B " 8 § 2323 § # /

NON i<« 4 1 M



$ $/ 4B 7 /
$ & ™S $ /7
&- - - " $ $ 7/ '3
/ $ / $ % 7 =IN{ B
\ /K 7/ $ $
$ $//7 S & 7%
"$ 6/ 81 $77 $ :
$ 9 7 $ id =9 & "$ / "
"8 " $/7 & $ -K $ B/ 3
VAR U 4 T U - $/77 $
$ 3 7 L8
3 - - = 7 81 # < # &
$ $ - & $ /7
$ /7" 7/ &3 & C 0 / >
0 $ 6/ - $ /
/ $ 773 $ 3 7" $
$/7/7 % + "§ " & / $
& /77 & $ L # 3 -
< & 7% -
I $ 1< - $
7 / 8
=N & $
< =8= - $77 $ 7/ #
/7 3 " / / $ 8
/ / 3 $ /3 -
4 / & $
& / - $ 3 &
" $ $ - /77 / &
- iB / / /7 $
# $ / $ / 7/ & G
. $ & $ $ 7 %
$/77 $5 =91 6 - & $ 9
" /7 " & >
L / T- $/7/7 % $ -
73 V7 RV
= I . 2%o R E 1 1 § -=AAk:@AA !
C 6 g- NNN? 4" L 4 6 " &/
L9 U
8 D/ %>R K ' 1 E C 16 :=BAk:><Aj *
2 L H# NN 4 = 1=
9 $ > < § ? / *< ) N " 411 1=4,
$ /77 $ : $ 4

NN §



TB< 20>V 00> B -~

$ $ K/ 18 /77§
$
/ 3
[ &

3
$$ $/7 % &

$ 3 / 1 =

> # g< 12

& /
K 7 K

$ /7

/ /

/

$ /77 %

=N $

»<

*>0% "B B > B N

Nt 4

$ 3 % Il // JB <0 #0

"/ $ NN1

3 *<



7/ & $ $ $ - I
/3 $ /77 3 $ 7/ $ & B /ZK/
33 / $ - —
$ 9 $ - $ 1
& / $$ $/77 % $ § 4
& ! 3 $ 3 & G
K $ 4- $§ & $ 3 $
/7 & & ™ /
/ & # =
"% & $ "o " "
d = # & /7 / -
Y $ 7 :9% 7%
& 8 s,
$ / $ & | =9 G
- B/ 3
& G& - =0= # & | :$
& 7, $
/ "% 7 $ 8- 3
$ & & - G $
$ =
=1 = =9 $ / $ -K ) I | -
n + $ 7/ ( & 4BG
= $- - - $ & "
$ $ / $ 7/ & $ "$ =1
"3 T H# ND % o/k " 7
J 3 $ /7 $ =8 *<) 9 =4
% JB <0 #o0 80 m 1 I iN |
1 ) 0 0 6 \ f«< $ #
76 4 /7 $ N19¢ 4 N 4
= H# $ $ "3 : %> =<
A $ s/% #o$ & $s i1 2 s
) . H#HH'S <3 $ # U § N 9 499 NN
8§ - BR E R N J6§ 2 .6 # NN 41
=
9 *H# 18 1) 8 = == = # = 1 =1
# 18 ==
*<) N1t
N B $ / _
& - /7 $ $ 7/ /
/ / 4



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N
"o $ /77 $ $ T $"$
] / - /7 $ 3 $ -K U - W -
# & (V4 3 7/ 4
" / "8 8% $ /77 $ $
& " : oD - 4
$8 $ 7/ $
< >$$ $ - / = 3¢& $
$/7 & $ -K 4 :$
$ 7 $ /K/ $% / § /7 - "
T$ < >$$ $ > $ " 3
- $ I Ul & : =N
/ & # */(# (B / u
I / . & 3 - -
$ $ 4
1$ /77 1- $/7/7 % $ 3
=N1 / D & 8 -
Il & / $ 4 "
T /7 & " u? / & J #B /
: -6 & G -
$ / & 4 - 4
& 7 & /3 8 $ $
, - #. % 7 - -
K $ $ -
< $ $ 7 - 74 -
$ {2 - - - &
$ 8 $ 7 J>
$ 8 = R , 4 =N= 8
$ J> $ / 1" =
- 4 / / /7 $ # .
% " [ $ 3 $
$/77 $ 3 /7 % - $ # 3 - 7 "
\J< G$ 4 {
. $ - - <
$ /3 & 7/ # <« $ 7/
# & #. % $ $ - $
& == &/ 3 3 $
*<) N 18
) $ B! - =ON - % -
$ $ = Y # « $
& 4
D <o - 1 6 R E 6 :=B=h:@<Ab 6 R I >:" 2
# NN 4814
)% 2B * " N Wl b i 41 19



/ / 1T/k/ " $ 3 i BG

" J> I "/ 3 /

' $ | $ G 8= "

$ :$ /3 $ / -
[ 7 $ $ $

3 4 $ / 7 6 & "

8 - 3 /3 !
BG J> "/ 3 3 " $6 "3
$ $ 8 N 3 - ¢ / / -

/ D08 &4t J= | $ - $
/7 T &U 7 " /K7 7/ $ /-
- - 3 $6 K & "/ :C

23 9 : " $ : $ # $

2 U $ /77 % $ /

J> | VAV 4 / . $ - $ -
& " & "3 / $77 % /7 /

3 $ 3 "$ 7 “$ /7 9
$ 7 3 $ 4

" 8/ 8 8 & " - $7/ $ -

& - & G N= // 36 /7 /

I , $ 4 $ 356 $$ "
- & $ 7/ /
/7 7 / - /7 {7 3 - G
4 . $8 & " $8 "9 J>
7| / 1$ /77 7 ol
- $$12 " $ / T #
$ - 8 "3 3
/7 & - " "3 - 4"
/ - $ 4
:$ - - P + $
VT $ . & /

- $ 7 $ /77 &/ -
& & 7K/ $ & 4 G 89
&/ & $ "o$ - $

$ $/7 / / - " 3 K

1 $ >« 27T" a 3 1< > U # > C

- Lo b :=BAk:@DA # / N9

4 81 8 ‘Di<o 1 G/ [ 489 9Ni

=3 s/ 89 /] $/ 0 - -

$/ 8 T U : - *<) 1



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

$ 3 $ 7 $ $
8
" - $ / - " /
$/77 % $ & " HBG 88 7/
/7 $ J> $/7/7 VAR - 7
$ - 79 / / & -
$/7 - 7/ . / $/77 %
/7 AH# & / / T$ -K U / :
# 7 $7/77 $ $ & " $ $
$ &
On - & 89 N 1 N
$ - -/ / R4 <
& # $ & L
/ $ $/77 % & " , 1y On
Il /7 1 9 - # & &
$ & % $7/77 $1 $ 7/ /6
"8 / - Il / 3 "3
$/77 % $ / & & -
/ - " IB /ZK/ " 7 7
/ & " /3 $
-/ 3 " IV AV AV e 4
# # % ( VAR & |
$ - [ & D <
& / $ " /7 7 " & $ $
& "14) 3 /7 $ / I -
$ /77 | "$ 0 /k 793 $ $ /
/7 $ $ -/ -
& | $ - & - T
/] V< ([ 8 /77
$ 7 K Voot & 7 [
) - < > U BG % ( /
8 , 3 VAV AV 4 > & ? ]
7, $OIF 7/ 7, $ 710 / $_ u 0
# "% ? / - /
s $ 0/ D 3 $_
Vo4 / $7, & |
9 R 9 8 ) N9 NN
$ & $ D 0> R C
! M 1Y)y 7/ . & 4
Nk 19 U
1 *¢) N "8 8 "8 8 !
1o# % o | K )68 8 N 6§ 1 - u 8
N 1 8 N I 8N« 2
% / & $ & 4



- / # & & 7 7/ 7/
Y $ & " $ $ 7/ $ - &
3 3 "$ - K "3 1/K/
& / - -4
3 \J« G§ "$ 7 $/77 %8 /7 $
$ / & 7 \ & Y /
/ $/77 % 7 $ 8 &
/ -7 "7 /7 -" 7 $/77 $ $
/3 $ $ $ /77 %
- " $ G $
- -
B 8 7 81 /7 /3 < # &
$ 9 $ -
& - $ /- & $
> 8l 8 < $
$ & - / - : /
$/77 % $ & " 3 "$ # & | B
"$1 7 K - $
$ $ - $ 7/ &
3 7 I & $ -
id ! $ 7/ -
$ $ & $/77 % - 1
/ - & $ $ $/7/7 $ / 7/
" / - $ - " K 7
Il 4y B $ $ $
- $77 / $/77 $ :
$ 9 / / 3 - /
- /7 - |
$ # & - HO& G / - "
J> $ $$ $ / /
- $ 3 > \J 6% -
# & $ 759 $ /77 3 $ 3
$/77 % & G $ - $
T g *<) =
1 B " 6 J C-Rr NJ1 IS 6 8
$¢ , 2 .t se # NN i 8l
1 % / o* > - N n 8N
c $/7/ $ 7 & : - # &< 7
$ 3 /7 $ & $ $
& ! & 7 / & $ $
/ # & 13 D E oT s .B/ s $ &
\J«< i & u U : > "">B 0> D %200< 0
B >0 >? {P 1 23%22 N 4 4



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

(V4 $ $ 37/
$ \ o /3 " $-
$ G / I - $ 9 L $ 8
"3 ' 7§
& 18 - /7 $ - - -
& 7 i - 8 = " I K
] - /& ) 4 $
$ - ' 4 $ $
3 : $ IS $ - K
I - 3 "% $ $6 / $ $ $// %
SO
/77 G $$ 7/
/3 "$ / /
$ / / - "$ 7
$ $%66 $ /- H
T O
" G& # < 5 $ &
81 K $ # $ 2 8 NI # Y
T 3 4 u " " $ (" / $
$ - (V4 7/ - $ 7/
& 7/ - 7% $ 6/ $
$ \J«< G 4)$ 7 $ &
& " & : / - : 3
1K/ > (B $ - 9 D
" 3 $ 6 / ) &
# - $ D s / /7 $ /K/
"8 7, 4 $ /6 & 3
/ G J> $ $ $ 7/ $
& : - $ $ / $ $
"$ 4D s / & $ Ii7 -
$ / - $ 8 :$/ 7
$ & G 8 - T ) / Vi
& - $ " / / Il I
- sl 3 . "8
= J * " w F>B< > N I« " 3
# L N9?6¢ 4 N8 NG 41 3 D >% N I« 0/
D $ < % 4T / $ % < U i N N 4 =x 9xd
18 % ,> 1, 1 , &N N 1=0=
>A= $ < # &K > NNN 4 =1 81
19 * C + 7 / >B>< | 1"« J (
C 0 Ngg? ¢ | </ J 80 ¢ 4



D >m* o]

/ $/7 % $/7/7 $//7 % ( -
$6 $ / ! /
"$ T /K/ . - $ - " ) / us 7
/ $ $ 17 JK/ " & "%
$ : _ # $
/ $- $ 7/ = - -
$ & " - $ K / $
- " 1 $// $ 7 "$ 0 /k
=1 & - # & K
/73 $/77 $ /
- - $6 4" D s / $
= wp " - /3
$ - / - $ "$ 7 $
& / -
8 {2 /77 !
3 > 7
& D 7 K / " ?
& = Vo4
& @ ; - & & 7 $$ 1<
/ G 88 7/ 7 &
/ 3 - $ / $/7/7 > /K/
$ 98 $ 7 / $ 8 =1
B # - $ =7 " # <K
- / = $$ M$" I - 8 / -
$ id % $ 7/
& , $ 7/ $ 3 &
* $ 7 / &/ ¢ $
$$ # <J $ /7 >
/77 - & $ § 17/ $
4 $ 7 /K/ / ./ $ 8 /7 $ 7
$ / 3 i N $/3 8
/7 & # ) , (
& "$ $ $ 7 $
T - /G U $ /7 6 $/7/ C
/7 $ = /6 K / 4
L >B>< ("« | | 181
W >B> ("« [ | | 4
= D E oT, / $ ! u . < $ =8= 88 |
,02 2 >*o0y ? 4 > ( -
> N 48 8=
*<) N " 48 8 4



TB< 20>Vl 00> B = > # qg< 12 < *>0%"B B > B
VAV / & $ 7
8 - $ $
- / . $ 3 "$
/ .1, -
$ 7/ "8 / /
"$ /7 0. ) $ ={
8 I - $ &
_ $ $ &/ < =1 $
- B : & $ $ - =
/ "$ 1/ C - /
- - " $ /77 $ & $/7/7 %
$ I 4
- $ 6 / $ 3 $
- G / \J< G$ / $
? 0 - $
$ /- / $ / ./ /!
. o 3 - -
) $ V3 / #
LY 4 7 /7 $
. & 1 - & 8
7 > $ 73 $ 7/ /
& - 7/ =8} 8N 7 Z/ & $
& < $ - 3 $
T$ /7 & /7 $ (4 U
- &8 " # - -
$ & - - $ 7/ &
) $ - / 36/ "$ #
" $ 9 $ "$ & 4 <
" $ 57 V4V4 - B >/
& /T8 # % ( -
$ $ 93 & <
*<) N " d== =N
*<) 9= 814
4 A Nootal 11
== *() N 4
=8 ; o"RrR1! ! b 8 \
# J# N8 ¢
9 / ; 0" R % 3 & $ /!
n 11 « " 3 s$ 2 7/ N8
89l< & / $ - \ Y0 / $ 7/
33 & 4 0" R ! m i



1 - $ C =4 "
" " ] I ’
& 3 - /G 7
367 " / &/ $ /- $ & (B
/ Y /77 - T0 + U -
$ 7/ / 3 7/ -/ - "
/ $ $ / \Jk G$§ =
/ $ (*7/ -7 / /
VAR - $ $ -/ $
+ $ (" $ 36/
$ /7 7/ g =% § Vo4 /
$ : $ -
3 / $ /77 $i# : I &
5 5 8 8
>/ "/ - T "3 $77 3%
/7 U - T3 $ K 3 / § U ;
$ Il $ / $ $
$ $ /77 % & - 5T
/ o $ $ /77 % $
/ & U # $ 77/ >/ "
$ Vo4 I $ & - -
# & (4 /7T "6
U? i3 $ - $/77 % &- 8
$ /7 & $ . - "3 $ 7/
$ $ 9 3 $
$ - 7/ / $ 4
B - / $ $
+ H "$ 7 {0 - >
. IKS / $77 7/ "
- /3 - $ $ $ I |
>/ /3 & G :
%3 $ $ u /4t =" 3 "
11 o« 1 13 =t w *eee > w ook 3
8 7 U< 4 =4 - 3 */ (RS IV
=N $ 36/ W - - $ &
3 $ / - 7 $ , /K $
6 =9 D 2#,0C 6 6
6R ! >:" 2 # N=14
8 * 6 9 ) 8 6
C 4 NG <\ $1 ¢ AN 114
8 B > > 8
% %, o-c" 3 *k'$ 3 N1 ¢
8 B /7 /7 8 = $ 8/ & $
/ - I - # |



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

/7 7/ 84 d / $ " $ "o
- - 8 7K/ - $ >/
1 8 1 # 81 $ $
$ \ 4 7 & $
& - $ 7/ $ $ /7 &
$ /77 % $ G & _ $ " - 3 I
Il / D & $
$ % 1% /7 7/ 7 $ / 3 "3 8=
i 3 $ 7/ $ >
- $ 7% /77 77 $ $
& "8 - / $ 88 $ -
3 6 3 - 8 94 - G K
/ 3 $ 71 5%
3 7 " 7/ & & $ G&
$ - $ $ $ /77 L
$ 4 K $ 7/ /7 $ 36 /
- = $ ( - 3 $ + "
$ /7 $ & / - -
$ - K $/7 & $/77 % $ _
$/7 & $ $/77 $ {d$s$ $
3 9 / / 5 $ % $ 7/ $/77 L
* - $ 8 $ 7 $
/7 $ ! 3 - $ /- & "
/7 /3 4 $ K < -
$7 & 7 _$ 8 |
$ - - ! $ 7/ " "
$ &/ $ & -
8 IB / " 8 K
- - $ J> & T & & D # (
/ Y/ & - &
, 7% D $ " $ & - 8
& & 3 $/77 $71 7/ /
5 " %>208> N M "3 S N== N 4
) $ & Fo.-T
b $ B >/ UE PH W 6 8H S
/ 4 81 4
8l B * >%< 1 * 8 +, 8
% %, o0-cCc"™3 </ N==4
8= .B< R EH 1 1 fr 1 E H 6
8 6 2 L H# N994
8 D/ %>R I 1 J % 63! 0 &
2 L H# N ¢
89 J § >, T / <$§ 2 % 5 & B$ O . %
< .UN NS1 $ 3 NN= 49 =091/



= ©“ Ro

$ $ - / /
3 | $ 7 3 ¢ /7 &
& $ 7
$ - 17/ - $ 9 &
$ & /
/ - /K/ 7
& | J & / $
/3 /3 - $ -
- / 9 /S $
< $ & $
/ $$ 84 J -
$ & $ $ 1% i 3
$ 0 $ / $ /
$ - & $ $ |
/ I - $ "$
3 8 & $ D u
3 "$ / 1 = - $
$ &G &
&G WBYB 3% & $ /77 $
- & " / /7 71 $
& $ & $  "ic<
$ - $ 63 N 89 $
* " $s $ -
$ /- /7 &
$ / $ /- $ $
/ / $/77 $ $ 94"
/ $ -
$$ $ 3 $ ™
$ $ ] 7/
$ - $ 7 J>1
% $
/3 - - - /3
& iB$" W Z $- .
/ / Y$// 1$
$ 3/ - -
$ 7 & / $ & -
- / =8 1 "™ $77 -
*<) 11
94
*02R =>)"z N 6 + Il </
$ 7/ ? () , / 1 NS =



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N
7 5 N\J< 6% Y /3 3
( / - $ " $ 3 $ $
/ - & 7 $ 8
$ $ $ 9 $ $ &/ - /7 7/
$ T /K12 / $
3 - + 5 ==0 =08 =N8 89 89 819
B $/77 % & 7 -
s 0/ % .1 7/ $ - 3
$/77 $ & - 7/ K$ VAR
3 "$ &
$s ™ $ G 3 7 +
-4 n $ / L J> - 7
$ $ 7/ " RV 4
77 & $ / $ 3 - 94
$ 9 - $36
K $ 7/ $ /
& 7/ / 3 - ¢ $
- $ "&
3 /7 - - / $ "/ " 4
/ \J<  G$ T# <«
/ $/77 $ % V4 $i - 3 / -
/77 Y /7 "1 & $ ) $ /K &
I 94 BG6 /7 / Y &
# & $ 7/ $ $ 7 9
I7 7" $ K -
$ /7 $ : L 88 #9$"- K $
9 M%>R x ' 1 E — [ 4 & J>
"$ ? 3 D Jo< J BoF=2B
6 :=AAI:B:= 6R ! /3 & 2 L H# NN 4 N N@§$
& 3 "$ I -79r "$/ $ 7/
4 $ $ * ™ _#o0coE N 6 8 N
8 R 6 :=AAY:BAA 6R ! /3 & 2 L # N
"L # > / NN 4 814
9 $ $ / & - J> -
$ /3 - / e
$/77 $ & "$ - $ -
/7 $3 % - $ " / D -
3 - : $ / 8 0 /
/7 3 & -/ $ $
$ - / $ /77 : - - -/ 6
$ $ 7/ $ $ 8 $
$ 4 / - $ .0B T
& ( " U 1 6N
73 $ 0% & ! 16 /7% ' NNN {4 == 4
9 I 1% o - +§ 6 w48 9

19



Y & 4 /K/ & $ /77 $ < &
& / =N $ "
"/ /7 & /7 & " J & T 0 b -
1 U BG $ 3 $ T
/ 6 $/77 § U / K 3%-
/ $ /77 (BG $ -K - 3/
$ T9$ Va4 U $ 3 $ & / - "
$ Y $//7 % + $t $//7 %
I $- G "/ 8 / G
$ J=> | / L 7 4 -
H<$ & 7 & $ /- & 7/
/ - / " 3 "%
) "§ :$ &/ - - s -
oOs$ s$ 7" / / $ 7/
$ _ /7 3 $ - $ %
$ / H=® " - 3 3
$ $ . "% /
$ /- /7 $ 7% / /7 " $
$ / $ /77 $ I BG 7
39 7 K - " $//
- $ $ 1% i 7- - $
& $ "8 <
$// 88 - & ) / & 7
Y/ 1,6 Y RS-V 6 -
. &
- " # - Il &
$ $ /77 $ & $ o
$ 2 $. - / On o=| #
$ & # - 89 $ 7/
"o &% 9 & K "8
/ / K
$ /77 $ 3 7 8 - $ 7/
a $ & 7)) 7/ D & %>0 > E 5
E H S\hi><V E K - 1 8 0 & C & & C &
2 L # N &/ $ "8 J> "6
/ Y$ $ 3 ] - &
£" %% ) D u Lk / 8
7 / : % ] 7 *<)
8l
= " / $ "$ $ & $ /
$ $"$ 7 " - $
L& : 4
98 Oy> =>0> N 6 N 1 1 M
9 - 6 -) - 6 6 N J
) 8 |



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B N

Mmoo & /7 /7 8 | 79 -
+ - & G $ - $ /K/ + $
$ / " $ /
/ - $ & 3 / 36/ 7/ 7
; / - " 3 v sy
" - (VA 4 / 1 /K7
$ K/ 36/ |

& - / "y
8  $// 3 s #
$ I 4 77 $ Y

- ] /3 - $ $
/6 $ < G 81
$$ J> N2 # &

% # 22" 1 - - 23§23 23 § ¢
1- S8 # LA L L NN L =8l% /§ $
/ - D/ *) 9 !

%>\ 0 9 3 91 * & ™ N89 -7
/ <0 %>0* 1 1 N ? 23 $ I/
$ $ = # $ & $ / $
&
1

N



>m"

"l

*()



TB< 20>V 00> B = > # qg< 12 < *>0% "B B > B U™

[

= Dian Macassar
Bataviap _ \

EG 3 /> =017 "3 . "J$ W



/

= - —— — ET

TE PARTICULIERE DES ISLES MOLUQUES .
Fichelle do Laowes Mariner de 20 aw Degré’
z 2 3 4 5 =

1o N - D $- $ % ) L #
cC M 361 # B 918!  $ $ 6 !



5 /7 /&
J \<J
$ / T/ G U §
$ V4 &
3 /- 7 -
> & - $
% & & $
$ 3 a -
) " /6 /
/ 0 7o
J $ / & 7
/ "L &
3 - / PR,
$ 7/ / G §$
N8N
$ 7% $
& $ 0 / G $
-5 " $ $ 4" 3
- % $
& - /7 3
$ $ 3 K
# B2 >"> % 0 ' ?
N "y 9 1 23 $
) $§ N="" 0 2\ ' ? $ b
3 "< a M / 1 )
J 6 S% $ N8N ?
3 N 7 2
$/7 7/ $ 3% !



- $
3 7 & $ " \<Ji " $
& $ $ 7/ & :
$ G 7 4 : ? J i
/ - Vo4 S / $7% -
$ /7 G $ B 1 (7 # "
/ 7 $ )
/ $ $ Jd 3 & & 0
) § % i $ $ 7 / G /
$4 S / . $ =
$ $ - &&
3 J J $ 8 B
/ /. 3 / $ $ & / -
L $ 3 $ # $ / 3 $
- / 3 $ - &
9 3 $ $ " $
$ m $ / $_ $ n /
$ / % - $ & - $ 3 -
& $ 7/ / 7K/ $ |
# / /3 : 08 $ &/ $ :
C 6 $( #t$ // /7 $ - / $
$ 8 /77 $ : O I* R " 0 $- 6
9 # ) /7 N9 2 & & NS § SR
0 9 i 1 1 6 # 3
NN ?2 4 /7 $ N @ $ 0% D c> 38 5
9 # > N1? 4" L @< &
$ 7/ $ /7 / $ - | $ {
J /77 $ 5) - ")Yo0 ) *2<o0 /
f 1 # # ) § 9
1> /7 7 & 7/ $ $ &
3 -, J C / C N0l 1B/
p J J &" * $ % # 1% 4 ( 6 $
418 N ¢
= J $ & // $ 3 0$ 3 $1
J T< $ /. Usb
Z  ’SS$ $ $4"S" $SS$ $S &// $ $S &7/
/ $ 8 $ S $ /. $
AR - /7 1/ G U / /
Ul
8 D B2< B 3 3 lE t N 6 8 6 :==Ak:@BA
/3 & /3 & 2 H# 4
e J /77 e x4 b ) 9 13 ) 7
b )a K )L™ b 71 ] [
$ > 3 & 0 *| (B2 oB,? § A
NG 7 J H C R % N | z==Ak:0AA &
%f NN84 J 5) .. > BR 03 B <> "t 9 /C
1 # 4



0)" \«> 20" >B " 20< 2\) " B

7 $
K - 36/
$ - G 7 3

T/ 6 U$
- $

3 -
& $ J J

$
/ - $

! n n # +/ %% #* * Il$

-/ $ " \J

>20 TB

$
/ G

$

$
- 2 $ 7/ /7 $ /7 $/77

$
/3
$
$
4
/

& %*

%  Co R /Q

%f ’ 3 Fo Fos 2
, O $ "J / <, 78
C >, R 7 4 KG 6
C 1 3 LK E § =AMk @
B /! = 4 9 19° >, 7|
" >;Ehev; 78 $ - |
0 94

,0 B 2\ U 2\J« <

$ 38 -
$ 77

T/ 6 U7/
T & UW#

% o,

U ) c J

) $)

% & %{**<BD>

. #

1 4

/ =i 0 #



A N

/3 $ L $//7 % & - /$$ /7 $ -
$ & $ 48

$ 7/
$ / G5 $ /3 : $
$ / - $ u $




>B "

20< 2\ 5"

$ 7/
"L

7/

$

B

>20 TB

,0 B 2\ U 2\J« <

/
/ &
37 $ 7/
- 1877 %
K 6& 7/

$ \J«<  G$

NN

. %4

"3, .
Fi< >0 =7 4
LH# NN1 4N N
IQ
/ 10c >0
Q J# 3 & i/ "
23/18 % b



$ 7/ " $ $ 13 o ™
$ $ ( $% 381 $ 3 $ /7 3
98 G& , 6 $ "/
/ $ - $ 3 & G " \J«
C$ 4
$ 7 $ /3 -  §$ 3 -
/7 G & / K - 4" K $
$ /K/ " &
$ Vo4 D B / / &
$ 7/ & / $ 3 $ $ 7/
- > K 7/ /G 4
/7 - 3 - $ "
$ S & - A - 4 7
- $ $6 / G § 0 $
3 $ $/7/7 0 $$
/ "7 9 : -7
$ & $ / & $
/ & - 7 $
/6 VA ARVAR /7 M $
/7 G $ - K/ "/
3 3 365 7 " N
$ - 7" $ /7% 7/ $
$ - . 3 7 "
$ $ 95 4
$ 7 - $ 3 $ & - $
7 3 - H" - /7 " $
] $ $
& - 3 - K / 7 /7 $
/7 G $3 |
9 # G 5 3 C>a B 3 $ 4
0 e $ $ U 0 )2 , Q"o 3 C>J
? U R K JJ S) 3 &Skl i= 8
MB2«B 3 3 m 11
N#gC 1 1 6 -@ADH:@>: % & ! # & 4
J $ F . F<, 0= C Q U 8 Qa :>BBH:@;<
9 ) K 1h cC 1 % of $ N 8 $ - G
3 7/ " O>R" B20¢ b 6 # ).
e
$ B 7/ _ 3 J
J NG TH/ 6N / /
/ /2 L H# NN214



0 )" \«&

\J<«

20< 2\ 5" B >201TB

o, 8

20" >B "

-#$ "% $

G$ 3

/K IS
$ /77 8T

- $$6
/ & /
$ & n
&$

%

g
)

* / ’
1D4 %!

a

9N 9 D %
18 41 %
1 C % OP & 9 ) $
(& e  //0 91 9= |
> BR " i 9
8l
0> o
E 9

3 /7 §%

$

+

,0 B 2\ U 2\J« <

II#



J & Il -
$ 0 " $ & ™ 16
$ 7/ & / E 8 &
"L $ / - T & $ / % 6
91 + 3 # / $ +$
& - / G $ / il
: & / /6 $ $ 9 &
$ $ 7/ $ & - 3
T/ 6 U § 7 /3 - $3
$ $ /77 $ - $ $ 6
$ 8 - $ & ! ) §
3 " $ 33 & $ 3
/ YO - & / - - 3
$ 7/ & | - 3 -/
$ & & 73 -
/ & $ 7/ $ - - §$ |-
/K8 -8 3 $ 7/ & o
B G $ $ $ &
$" - § & $ 58 ) $
$ 3 - & $ $ /
"8 3 8§ % $ /7 $
3 | $" & : -
/ 3 /
$ - & & / 8t L -
/3 / / 4
Ja 9 S ) 3 6
1 b 1 6 1 R § Qa1 M U
= ) > 0 E Ct [ 418571 1 Q6 §
K6 6 :0<D T)  6) E ¥ a C fH
N 8 Q6 1 w
8 " 3 #j-" <,0 N 8 -4 861
§ 1 - § / /<L &b 9=
\« 4 157 / g + - - / - 108
2 & $ - ¢, / 3
$ $ + - / V44 1]- - K . g%
3 $7/7 # 0& 9g$77/ " $ =87 -
A
S # /7 5D % CQ "w CcoO 8 a Q6 /C
$ ) $INd#H $ $ - / J< - G&
$ & 7% $ 9 > $$ & |
J s "L # J / $ &
$ $ $ 7/ & 78 J ¢
A & $ % /7 - 7/
$ 3



20< 2\ 5"

a &3

. . F>0," R
1@:>h:@:B # # .
- J
"$ 3l $
Tl 3 /3
-7

[ $7 ) %

& 7J
73 $ 3
T N
0> P !
"2 %) 0 ? 4

B

>20 TB

,0 B 2\U 2\J« <



Y4 Ve / - " L /77
$ 5 " 3 $ "L /77
/7 7/ $ & / 7/ )
% G % $ i $
7/ "L / "$ $ 7/ & 3 3
$ /77 - 4 $ \J«<<  G$ $ $6
$ $ 7/ i< / / - $
4 / " /7 $ / 6 - " §
m-73 4
/7 3 $ / 7 & / "L
/ ( / & & $
) § G& " \<J! / -
- 3 " c$ $ /
/ i B /7 | $ / 3
/ - /7 & - \<J
3 4 & & 73 $

/K/ - / $ & "L 7 $

& 3 7/ / /

"L < / / - " L "$ $ 7/
/7 & L& $ $ /77 # * § -
$36 / "L & " $ & 1%
s - - $ / /77 F 3% - .

"& 7T % ) $ 3 \J«<  G$

/ 4

§ t-gsHH § " & $
E § - 5 7
<y & % 3 &% I 3 $ /
K 7% 3 - / /
- Jd L < 1% /K/ $ /

/ )o >, N 3 & * / + 9= 18

T & ) L / $ E - /

7 / 3/ G - /
$ /3 - / & 3 - & /
33 $ - " K $ (7 K 4
) $ 6 / </ $ / 7/ & 1 /
J - - / & E
/ "$ $ & 4V
J *6 o< ) $ B/ - < , .. 0 L, 41
M 9 §:0:0 # SJ - S 1 J 9 B E

C<2c*0o> B ? 4§ 3 3 861 6 § § :>BVH:@B; #

> / 9 - $ " & & - "

J 4



0) \x 20- >B " 20< 2\~ B =>20TB ,0 B 2\U 2\J« <

" $ & 7|
$/7 $ $ - I 3
7% / Yy
8 $6 $$ $ $¢6 3 / [J/
$ & N & % . 7"
/ $ 7/ / 7 &
$ $ / & $ G
< & $ $ $ 7 % J $ /
& 7| A - & $
& 3 $ 7/ "$ 7 T/ G U$ A
- 3 " 8 - $ & $
& $ 3 / / $ &
$$ 7 | /
- /7 - i< & 7/ $ /7 G $ 7/
- / /
7 - I B
$ " $ 73 ] -/ 7
$ $ 7/ -
/ $"- $ 1"/ & &
/ $ $ 8 $ 7/ Y4
& - 7 - / AS$S 138
33 &A $ /3 $ /
$ 314
- & $ 4
$ - $
3 $ id & /7 &
$ " c J - ( & - $ " L
S¢S S/ < . /
$ "% 3 5 & Vo4
& $ 3 { BG " / N J<«
$ / "
& - 3 $$ 7 3 $ -
1 4 - & $ /
- - $ & G /7 & / 174 $
3 0> $ - $ L
$ $ $
$ 7| " !
$ < & .3 &
e J $ (33 & \a« G
& - $ $ " L |
1 N 9 - b R N 18 K G § d 9 b M )
E0AS) - 4 20<V # $ ) s §1=7 9



8 7 T/ G U$ $ $
- 4 - $ "L /
$ / /7 - " $ % G 3% 7/
/ G " $ 7 1< $
:/ & $ $ $ $ 3
(s / \J«  G$ 3 $
/77 3 / K
$ /73 " $36 7 / $ $ &
$ /3 7% $ c$ 3 -
$3 - $ " / / $$
i $ 7 :$ $ /3 | % cC 7/
" 3 $
/ & / $ $ 7/ "L
& $% 3 $ /3 - $
$ / 3%7 G 4" 3% / $ 7/
& 7/ /K 7/ $ $ 9 $
% G 7/ /77 $1 $ | 7/ 7
$ $ $ 9 7 S K/ $
" $ ) § & $$
& $ : ) § ¢ $ G
f$ 279 10 & / "$
$ ) $47 - L& / $
/ /7 6 " L 7 / 3 3
$ /3 $ $ /3 -
$3 $ 7 7 "$
$ 3 T W $ | 7/ $ -
$ / $ Y/ § $ 0
.3 $ 1& " L o7 &
33 & $ /3 /7 . 3
/7 |
VAV A AV 4 7/ & % % $ K-
& $ / $
L 4" /7 " * & % % 3 C
" 0 & / / 3
9 $ /3 7% $ $
$ D / %6 : ) $$//7 "6 1
$ $ & / /
1% Co R m & N =l
8 /7 C« = <, E 6 / G "f
K8 6 :>AAk-BAA $& 2 $& # NN 4
9 - / $ $ /3 $ -
T $%6 $ " 3 $ /3 :$3
$ & /7 1/ $ 7 - $ 4




0) \x 20- >B " 20< 2\~ B =>20TB ,0 B 2\U 2\J« <

$ % " 7 $ $ " L 03

$ /3 L /7 73 / $ /77
[
$

/3 - G $
K/ $ B $
3

N

* & ,o<*0? 4 J U K ) Qa ) a
9 iR Y8 T $ B $ C & 9
N FQ Fos 2 T 33 %, wv /14 9 19
1 " 3 #j°" <,0 N b a )
8 -t 86167CG& D B/ 91 {1!{
1 *0 ) ) NU /C) i T Na 18 Q U
N 5 I Q Q 31 $ %. $ J6 & $ $ £ *e
N -~
1 { % Co R m 9 u



6 / / $ " $ / o $
& 3 7/ & V4V 4 " $ - $ 7
7/ & - / 3 - $
3% 3 " 14
C6
3 % - $ $ -
8N 40 $ G &/ 13 $
" $ - /3 S 4 $ 7 &
+ W og / / &
$ $- " $ 7/ / /
$ $ "
/ $ $ 3 4
3 9 $ A /G 33 &
GS$ " \<J A - /7 G L 33 &
$ 3 $ §
9 - T" U=y
$3 $ 3 " $ $ 7/
$ - - - a8
/7 G $ 3 K / / $ 7/ L
- & $ - /
7 %7 3 $ /7 G|
# - 7/ $ $
$ J J "8
" 1B " 7 $
$ J < 38 8 0 $ /
D < J< $ - <i" 8
+ 3 > %8 $ $
$ / /3 7 $. 71°
1 I 2%0 R i § C i
t [ =AAYQ@=A # /7 + =
1 / .10 - 3 $$ 5+ %
“0TB" 3 -5 $ " . /
$ $ 7/ $ 3 \J« G$ UK
e 3 8 & 5 Z 5SS$$ 4 1 &S 9 8[ B><}
1 S§$t 98l Ta g ) § "
bt J J - 5ot aZ/ G b $
3 \J« G U >, 7 H#0 1% 1 A B B
8=t
1= $ / < 1= 41" 4N

88



0) \x 20- >B " 20< 2\~ B =>20TB ,0 B 2\U 2\J« <

3 $ ) $m 7 ) $ 3 03
/ $ + I $ 77/
VAR & $$ $ \J« G$§ ?78 81
81= 88 89 8N9u G -7
7 $. - 7" $ 7
$$ 9 791 " G "3 /
$5 7/ . $ - 0 7K/
/ / To- /3
$ / - $ /7 37/
$ 7/ /3 4
- i /
"3 4 " " & & ]
$ 8 $ 7/ - /K $ $ "L
/ / "8 / - $ & "
$ 3 - $ / )
.3 /3 $ s/ 70" & /77
$ 7/ 3 7 /3 . & $ /3
" $ / / 73J 9" / $
" $ $1 1/ - S $
$ ] / /7 7/ - & & /
T/ G U i & $ 6 -
$ $6 /7 G|
& - /7 G $ $ 8 $
$ % S & % . $.S" $ ’ /
/6 $/ $ $ / 3
/ $ 7/ & -
$ / 4 $ $ -
"8 $ & - $ $ 6 7 "
3$" $ & $ 8
I > /7 " /77 / 1 /3 $
$ & - 4 $6 "
$ /7 : / / - $ /7 7
G " $ / $ /7 J J
7 - - 42 3 - -/ /
$ 7/ $ 3 K Z/ c
B, .) oT+ 3 > 7898 9118 $ .
$ $ $1 " U 0 OB<*~0? # J:@>=/1 J8
C )ta 9 § 1 J 1%S%$ /BiB F ! = 4 N U
19 VAR 4 $§ ™sg" $ /3 / G
$ J / / $ G& -

+| ~o0Ta Wy |/

89



$ /7 7 $ =1
9= : -
$ 7/ $ Jd " $
7/ L $ /|
3 3/ 7 /6
- 3 / - / &/ "$
- $ 9
: & " $ 7/ :
/ 3 - 7/ 7 "L
- 3 -
K & & | 7 $
- $ /
$ $ 8 3 7 93
3 & 7 &
" \<J $36 G $ &-
&/ 3 ( Lo
/ $ 8 -
J $ / 7 & $/
$ - $ $ 7/ $
: I B$ & $ & $
$ 9 . $
/ $
$ & &
$ / - /
3l -
1§ 2%0 R " § m 11



$
1
- $ 7
$ $ -
I> G : mn -
" /7 G /6 3
>$$ 4 \J« \J«<<  G$
/ $ & $/77 %
/
& 3 4F /
1 - $ 3 7 9
$ 8 T "8 U
T $ $ 7/ 1y
# & - $ 7 $/
$ >I20R T*" 3 7 -/ {2
$ Vo4 UcC S = |
. 33 -
$ /7 & 3 C BxcCcD % Fo D
6 E 1 b 6 1
2 . # Nl # B20 <? W E E
1 86 /3 & 6 R ! /3 & 2 . # N
#>0, 0?7 R M " 0 &
/ 8] 623 23 § # )
/ 23 %23 § # ).
2 $ 3 - 3 3
/ P& "Q wo< C 0"0O«< oB, T
" $ 99 = $ $ UMGS 6
16 §8G16 1 NN1 491
$ 8 / 4
1 $ # > T°F $ U 8
Z 5SS 4 1 & S NLS /3

( ( *0<-

0>, ,

&

4



/ - =4 \J«  G$ /
T: - U 37/ $ T
& 8 U G "™ 6 & $ 17 /K -
$ /7 /7 7/ & / 3 7
& $ 7/ & 4< " \\  G$ - -
3l $ / 9
/3 $ 7/ $ - /3 /7 - c$
/6 L # $ $ 79 -/
/ "L /7 " &G
"oy _
$ Ny
- $ 8 7 $
" $ 3l $ -
$ /77 % $ & $ 4" & & <
# / $ "3$
3 / " 7/ 7 - %
$ " 7 G I # "
$ $ - /] /7 "3 / 3
/ /7 & $/77 3% "
$3 $ " 4" /7 G $ &
/ & $ / \J«< G$ - $ 7
= - " 3 /3 : :/ %ox) $ *>,,
>B <0,0 0? # M § :>AAk:BAA E 1
% & ! # & $/ =" * 00¢, * & Ok R 1IN
CcC ¢° % /3 . =" E M "8 E I/E N
6N R " 0 & 8!
8 B Bs 0>, D " % 0, 6 §
N § /7 JI<# % 9=8 { 914
9 $ & /7 1T : 7/
V)" L1 /7 877 3 UCt § 4 i = 8
i > $ " \J«<<  G$ " 3l &
$ 7/ 4 $ 511 1 5 i § -@VAY
06A $ & $ # # 9 Vo4
* <" 0B 1f # 23 22 § # g ( 4
N (( *o«¢ 0> B " $
/ $ L $ /7 G " & $ / NI«
6 U > %> ) < # 0.< & o> 7 4§ "¢
b 8 $ # # $ % ¢
T0 / U =8 4 = T $ $
/ 6 7/ $$ "/ $% $1
\J«<  G$ U " "20 <? UN e 5§ ¢ # /7 &
4 8 N9
TB - H®" /& -
\J«< G U ) . 2\ <" 0% < $. >BB>
280 / b 44 - f 23 123 $ 7

] 4



=, \,<" b2 >w o,< , 02,20 " H

D $- JORB %02 "> 8 /7 3 * 6 (
/ g "6 # 3 91 | =1
J $ - #00T,$ - $ 7/ - )
& NI« \\ 65 U # $ %o , < *>20 J¢, - # 0
' - 1 9 M K 1 23 22 § #
$ 7/ $ - TBS$/ $ - U N@
IN N4
# # 0, 0, < * & O">? B E IR | M C 6
E5 6 :VAAK:B=A 6R I > 2 . # N T) /<
F 5 ) 3 .U ) 1,0 ., ? 4E 5 C J
C 6 6R I > 2 H# ‘> 0Ja2nTB
$ S 7/ 5 /
$ / \NJ« 6% U™ §C # -
# 1 b = [ & 5Z 1SS /|
£ &S 9 >~ & Oc< ==> E N R /3 &
/73 & 2 L H 4

/



$ $ 4 /7 "
$9$ 7 - $7 Lon<
/ VAR $/77 %
$ & i $ $ /7 $
$$ 14" $ /7 " &
& - $
/ 3 L - /7 "$
$ /77 $ & 1 < 7 :
7/ & - .3 7 /7 G
&/ $ 7/ $ $
$ " $ - $
$ & I " $ & &G
/7 7/ I &
) § 03 Vo4 7 / G < 8 U4
B $ : /6 / & i
" $ $ $ - $ &
$ /77 L / Il $ /
V44 & iB 6 Z/ $ %l D O. 5
< & / $ -
3 < 7 7 &
$ - $ / $31 / $ ]
$ $ | $
359 7 & $
& 3 3 / $ -
iB 7 3 - $ - - -
$ - ) $
& 3 - &
$
$ $ - & / - /
& $ :$ 9
1 &6 20T / $ "< , # & .,/ U
p E5 C 6 < N==? / NN8§ 41 N C % %0 ,, T
& $ "< (B & UP E5 C 6 < N==? 4 NN8§
i T ) $ $ "< (B & UP E5S C 6
<« N=87? 4 NN8§ 41 = " J $ 20 R E5 E
hr==Ag ;A J$ g 3 / #3  &# LT 4 NN
= % & < > T* 7/ & "L < : U *
" %>2mB % & <> "1f t 60 /7 & <
" S# 2 0 4 4
8 T U )20 ,< 0 8 6 1
76k / «F . 0 /7 8N|{
9D OR <« OE 1@>> 4 i
p 6 %3 G- / </ 494



=, \,<" b2 >w o,< , 02,20 " H

& / < / /7 7 $

/ .
/ 7 v, /7 &
/77

?$ 3 88 /3 9=NiU

“$/77 $ /7 /7 a b ) §
G $ $
<J 8 & o*>"< #'>, T" $§ G
" \NJ« G5 U 8 C S TJ
- NI \Jx« 65 W 4 N ="> -
7. / 3 2788 9=NjU
., 2, ", >20 E # o/
$ # / {==N1{

/
1 99 38

7
[}

=
/A
[
»

1

H*+
»
N\~

.

N

9



00 *0<* 0<>,,

$ "/ 7K/ S ( & U -3
>3 1 /" - $/77 $ G
1 & 4+ B $3 -
& G 3 7/ & $ /77 %
& / T D .tU

/7 "3 /7 " 117 /7 G
< U 7% & / K
< # !

- - ) $7
9=N $3 /
/ $ / cC 7/ & 1
< $ - /]
$ $ - $ /3 $ 3
/7 "$ "L / /
$ G & id 99 / $ D 7
$_ /3 /7 " K / /
>3 /" / / /7 &
< 7" $( / "% & - / -
$ 3 $ &
3 $ & $
"% - 5/ "7 % \J«  G$ C
" \JK 94{B $ $/7 G
4 ; / "3 "L 503 3 -
&G 37 /7 G t# 7/ /3 : -
$ & $ 93 $1
D ) G oL
=" $3 T u "™ 789 - 7 &
w8 /0 "$ s
& 5
T # < $ -
< /& "-
$ , ? / L0 =N
>3 1 /7" 3 / 1 10 T> >3 /"""
/7 "3 D . $ 7 18U
1D $- J OR %02 "> 8 mn 7/ <3 &
"G 4 I# 3 9=N 4 |
=D Y < "8 s 1 5 1 § b
P # #o4* 9 =

91



=, \,<" b2 >w o,< , 02,20 " H

& i - $
D /6 $ & - 8
# / $ " /7 7/
/7 "$ "L $ & -  $ $36
$ / 7 $ 3 / G & & i
Y A N /7 G & & /
$ < 1B 37 / "3
D $ $ - /
/ 7/ $ $ $
- / < 4 $ $ 7/ 39
7 /7 $ / 3 /7 (<"3 -
& $ /7 & 3
4 $77 $ $ # 0
- - /7 $ $ /7 /
T < N U4
"3 $ 7/
& - $ 3 -
$ 7/ /7 & t# / $ " &G 4
$ 4 3 \J«< (S
%7 73 7 $ $ & $ "
$ $/77 7 O $ - 3 g /
$ - ! $ - 0
$ K 4UJ 999 /7 "3
D .$//7 $ /7 3 & 0 6/ &
- /7 $ $ /
" & 4" I7 3l / 9 D
% > /7 $ | 4 &
8 I "%
9 (( *o< o>,, P G/C # 1@Ak:BV: O #
2 0 = 4 N
# / $ " / Bl % B 4= ? 4o
N hol / o2\ m it 1 M b 9 ? M § #
b >;<hz@=A . /7 J b\
D$- 0,> 1$ b6 -1 # (
91 4 T < > U
D % B2, o,0 C 1 9 7 / K< #
« ., 7 <. 889 4 9 & 5 Z SS§ & LBMWS 1S 1S
$3 N8 ZL$ 10 NI
D % >2BOR § 9 J
$1 J , $3 4 3 /77
/ $ i - / J
G& \Ji



- $ $$ . L# $ $ -
$ / -
$ - 3 $ & - 3
$ 3 - /7 7/ < -
$ 7/ / 3 $ $ 3
$ 7/ $ 7 /7 "3 D & &
$ 4" 4 / ? 9 %/
&0 6 "3 / c -
/ / $ " $ "8
$ $ L # $ 7/ &
/ $ $77 3% 3
& / $ 4 -
/ & $ 3
$ $ & $ 7/ /
$9% $ u
-/ $$ / $
& A" / - : / < &
- ' /7 A $ c$
? 1/G6 3
- $ - / < |
# " $ Vo4 & &G
VAR / 7 I
$ / / K / |
3$ - & $ $ $ - $ 7
& $ 3 7 / $ 3
$ & - $ - - -

O (§ & "$% # S$# #

) $ 6 3 / 7
& & $ /
" 3l $ 4
S $// % u# & ) $
& 5/ G /G $ $ :
Ve / & 4 $ - >
% & & $ $
$ - 7/ / "3 $ ]
$ / K - ) $it/ 7
- $ $ $ < / \J<<
T $ UT $$ U™ 6 $ 1J< C 98 4
b=
1 B %B (== 27 8i T & $ /7 "3 D .U ¢ =3

B T89 U T89 U 4 8789 W

98



=, \,<" b2 >w o,< , 02,20 " H

& $ - 7 /3

/ : NN 2 @ 4=

9 - &/ 3 " <" <0
#00T, " $ & - 508 "8 & \J«  G$ U
g 4 (1181 $ 3 $ /3 NN9 4=19= N4
4 * J I kit = 4
N , =N T LU
1 , =N T "o $ >3 /"
$ - / $ / : U4

1 . =N T $ # # $ " >3 1/ " LLU
$ /3 : & & \\ G$ ¢4



$ /7 "$ &
- & 4 G 1
$ - / $ 3 / /7 7/
/7 "$ & I # 3 99 "3$
- - $ & - 3
$ - / 70 .14 /7 "3
& /6 17 /7 7/ & &
- / 1= /
/ $ "L $ / G &
& $ 7/ & 3 - 4" $
/ & 3 & $
/ K / - & -
>3 1/7" $ & $$ 7 4 "3$
&6 7/ /77 1T /7 & Ub
<" /7 $ $ 7 $ $
/ / $ &6 :$ -
V4 - / /
$ VAVAR /7 G 7 $
$ VA4
< $ $
&G & & il $ 7
$ $ / / $
&6 % / /7 . 184
=t 8 & $ &
"L 7 " \J«< G 3 $ 7/
"3$ $ 7/ Lt / 7/ $/ -
/7 "$ D . o3 5
+$ & $ >3 1 /"
”3 - D $ c$ 98 7 i
% $ $ 8 3 <
# $ & >3 /"""
$ 3 $ & 33 19
$ $ $ 9 & $ $ 4
$ / 3 - D /
1 >3 1 /" 17 / & &
$ 4 * J ki N4
1u , =N $ = /3 9 % $ T $ $ "3 -
& /7 U
= *ocr o<>,, Peil 1| 4= 814
18 i =N T> >3 1/"" /7 "$ D
$ 7 16u
19 33 799 NG $
/- 1 " 3 >3 1 /" 4
$$ 4




























































































































































































































































































































































































































































